o ©
2n1n
&1.&1.
AR
Y4 ¥4
LR
AN 0N o
586 &
S2°%
O )
Kk
N &
o X
i
ga 7R
m K| N0
| B -
IEN
—t JT._._\II
O | dfy
_x_.p_ m_/u.m.L
il .Iow_w
~ |H o
KM ™~ o1l
g [R=
= | Al
J-E j x
w )
<
| K
i | @ | a
v ™ ™
% [t | le
Il | ol | e

1. 97442004, 471 =)

(EC, dS/m)

~~
N R
& | =
ol I
—
o N
| B
wWE
X1 o
Te | &
—_— —
~
o I
AR S
(@)
LOY
- 0
o= | 2
Bt | <
™ NH
T s
B Mw
i ;01_
i BEO

i

0.62

BEulg

1.68

ik

N

2.07

7HA]

2.18

2.20

3.17

3.36

6.02

ob-& (%)

N Nrouw <0
N e _1ZrT o
s oyl x|
© X [

<0 i <0

=3 ICHN | I-wll IC)
R
o i | s i
Ao ™ Hlon
Nl S i+
FEC T Gy 187
w <0 <0
JU o HA7F o
<] 8 8
~q N ~

)AO AO

=i e W Ll e

—_

i ol F | oo
© X [
El | I s
s BT | IR TN
= || in
= g 6/@

A T ~~

»AO ZI _ 7AO

2l N | ey
s ) DT o] o
=~ - &

~~

o o Ni ~r <°
= 2]
T e




O 2¢]E &% FEo| EC/t 489 EY4S SX3 §F FET A&
1094 SEs Aw WA Fohg 24}

< FaARg >

b ECWS/m) FEE A Foh &%)

(1) Auae
P e | aaa | w | x| SEL| wa | e
1.0 (0.92) 98 33 38 96 38 38 30
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1.0 (0.92) 33 98 94 90 98 100 37 98
2.0 (2.33) 66 58 78 60 96 96 47 68
4.0 (3.86) 26 14 52 28 76 36 33 48
6.0 (6.02) 20 4 24 12 50 78 30 40
8.0 (7.64) 4 0 18 6 44 64 13 32
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